GROSS ANATOMY EXAM 2 2005
1. Which of the following contribute to the opening phase of chewing?

A. Mylohyoid muscle
B. Gravity

C. Inferior head of the lateral pterygoid muscle

D. All of the above

2. The anterior extension of an invasive tumor in the infratemporal portion of the masticator fascial muscle would have the greatest chance of enter or compressing which of the following

A. Carotid sheath structures

B. Maxillary sinus

C. Parapharyngeal fascial compartment

D. Retropharyngeal fascial compartment

3. The masseter muscle contributes to all of the following movements of the mandible EXCEPT?

A. Depression

B. Protrusion

C. Retrusion

D. Ipsilateral lateral excursion

4. The TMJ articular disc is normally composed of…

A. Highly vascularized connective tissue

B. Fibrocartilage

C. Dense collagenous connective tissue

D. Hyaline cartilage

5. A lesion of the left mandibular division of the trigeminal nerve could result in all of the following, EXCEPT

A. A uvula that is deviated to the right

B. Loss of touch, pain and temperature sensation on the left anterior 2/3 of the tongue
C. Anesthesia of the left upper lip

D. The mandible deviating to the left upon depression

6. All of the following course through the sublingual fascial compartment and thus could be damaged by pathology in the space EXCEPT

A. Submandibular duct

B. Lingual nerve

C. Hypoglossal nerve

D. Facial artery

7. A block of the left interior alveolar nerve could produce all of the following on the left side, EXCEPT?

A. Anesthesia of all the mandibular teeth

B. Anesthesia of the buccolabial gingival of all mandibular teeth

C. Anesthesia of skin of the lower lip

D. Paralysis of the anterior belly of the digastric muscle

8. A submandibular fascial compartment infection of dental origin would most likely originate from the medial erosion of a periapical abscess of which of the following teeth?

A. Central incisor

B. Canine

C. 2nd Premolar

D. 2nd Molar

9. The sphenomandibular ligament…

A. Is attached to the angle of the mandible

B. Is a derivative of the 2nd pharyngeal arch

C. Lies immediately medial to the inferior alveolar neurovasculature as it enters the mandibular foramen

D. Arises from the hamular process of the medial pterygoid plate

10. Which of the following findings would most likely result from a lesion of the parasympathetic input to the ciliary ganglion?

A. Constricted pupil

B. Ptosis

C. Anhydrosis (dry skin) of the forehead

D. Reduced ability to read fine print up close

11. Which of the following pairings of muscles with their innervations is INCORRECT?

A. Superior oblique – CN IV

B. Lateral rectus – CN VI

C. Inferior oblique – CN III

D. Dilator pupillae – parasympathetic fibers

12. Which of the following statements about the nasal cavity is incorrect?

A. The sensory innervation comes from the ophthalmic and maxillary divisions of CN V
B. The source of the blood supply includes the facial, ophthalmic and maxillary arteries

C. The preganglionic nerve fibers in the parasympathetic pathway to the nasal cavity originate from the trigeminal nerve

D. The ostium of the maxillary sinus opens into the semilunar hiatus in the middle meatus

13. A tumor in the maxillary sinus that erodes through the bony posterior wall (of the sinus) would most likely cause lesions to which of the following structures?

A. Glossopharyngeal nerve

B. Greater petrosal nerve

C. Maxillary nerve and the pterygopalatine ganglion

D. Facial nerve

14. A lesion of the right vagus nerve would result in…

A. An asymmetrical gag reflex to the left side

B. Paralysis of the right stylopharyngeus muscle

C. Loss of the sensory limb of the gag reflex

D. Loss of the sympathetic innervation to the pharynx

15. Which of the following pairings of laryngeal structures with their actions or innervations is INCORRECT?

A. Cricothyroid – external branch of the superior laryngeal nerve

B. Lateral cricoarytenoids – abduction of the vocal ligaments

C. Transverse arytenoids – adduction of the vocal ligaments

D. Supraglottic laryngeal mucosa – internal branch of the superior laryngeal nerve

16. Which of the following statements about the internal structure of the larynx is INCORRECT?

A. The internal branch of the superior laryngeal nerve is located deep to the mucosa of the piriform recess

B. Contractions of the posterior cricoarytenoid muscles produces adduction of the vocal ligaments

C. Pivotal movements of the arytenoids cartilages that bring their muscular processes toward each other abduct or open the vocal ligaments

D. Contractions of the cricothyroid muscles result in tension of the vocal cords and elevated vocal pitch

17. An infection in the maxillary sinus can irritate nerves that supply the…

A. Skin of the forehead

B. Upper arch teeth

C. Skin over the dorsum of the nose

D. Skin immediately anterior to the ear

18. A lesion of the facial nerve at the level of the stylomastoid foramen could produce all of the following symptoms EXCEPT…

A. Drooling from the corner of the mouth

B. Loss of the blink reflex

C. Diminished tear production

D. Food accumulating in the check when eating

19. Posterior erosion of an infection in the middle ear cavity would LEAST LIKELY cause damage to the…

A. Facial nerve

B. Stapedius muscle

C. Mastoid air cells

D. Carotid artery

20. Which of the following symptoms could be produced by a tumor located in the internal auditory meatus?

A. Diminished salivary secretion

B. Diminished taste in the tongue

C. Ipsilateral deafness

D. All of the above
21. Lymphatic drainage from the medial portion of the anterior tongue would FIRST enter the…

A. Deep cervical nodes
B. Submandibular nodes

C. Submental nodes

D. Retropharyngeal nodes

22. Which of the following block injections should be employed to anesthetize the lingual gingival of the lateral maxillary incisor?

A. Greater palatine

B. Infraorbital

C. Lingual

D. Nasopalatine

23. When you ask your patient to protrude their tongue straight out of their mouth it deviates to the left. This indicates that they may have a lesion in their…

A. Right hypoglossal nerve

B. Right glossopharyngeal nerve

C. Left hypoglossal nerve

D. Left glossopharyngeal nerve
24. Which of the following statements is INCORRECT?

A. Cleft lip occurs in 1 of every 2500 births

B. Failure of the lateral palatine process to fuse in the midline during development results in a posterior cleft palate

C. Failure of the maxillary process to fuse with the intermaxillary segment during development results in a cleft lip

D. Failure of the lateral palatine processes to fuse with the intermaxillary segment during development results in an anterior cleft palate

25. Which of the following pairs of congenital malformations and their locations is INCORRECT?

A. External branchial fistula – anterior border of the sternocleidomastoid

B. Aberrant thyroid tissue – base of tongue

C. Thyroglossal cyst – anterior to the hyoid bone

D. Lateral cervical cyst – midline of the neck

26. Medial displacement of the palatine tonsil can be produced by a space taking lesion (infection or tumor) located in the…

A. Sublingual fascial space

B. Submandibular fascial space

C. Parapharyngeal fascial space

D. Retropharyngeal fascial space

27. When ligating the superior thyroid artery during a thyroidectomy, care must be taken to avoid injury to which of the following nerves

A. Superior laryngeal

B. Inferior laryngeal

C. Sympathetic chain (trunk)

D. Hypoglossal

28. A patient has an infections inflammation in the dural venous sinus nearest to the pituitary gland. Which of the following is the most likely site of the infection?

A. Straight sinus

B. Cavernous sinus

C. Superior petrosal sinus

D. Sigmoid sinus

29. During surgery to remove a malignant parotid tumor, the main trunk of the facial nerve was severed, resulting in paralysis of which of the following muscles?

A. Masseter

B. Stylopharyngeus

C. Anterior belly of the digastric

D. Buccinator

30. Fracture of the foramen rotundum would MOST LIKELY cause a lesion in which of the following nerves?

A. Ophthalmic division of CN V

B. Maxillary division of CN V

C. Trochlear

D. Mandibular division of CN V

31. During surgery, a surgeon notices profuse bleeding from the inferior thyroid artery. Which of the following arteries must be ligated immediately to stop the bleeding?
A. Transverse cervical 

B. Thyrocervical trunk

C. Costocervical trunk

D. Ascending cervical

32. Following a rupture of a boil on his upper lip, a patient becomes comatose. The infection has spread to the cavernous sinus from the facial vein by its communication with the….

A. Straight sinus

B. Superior sagittal sinus

C. Maxillary sinus

D. Ophthalmic veins

33. Spasms of the ___________________head of the _____________________muscle could result in anterior displacement or dislocation of the TMJ articular disk. 
34. The parapharyngeal fascial compartment is easily located in CT or MIR images because it typically contains _______________.

35. I am usually classified as a virtual fascial compartment that communicates with the parapharyngeal compartment and I extend caudally in to the thorax. My name is the _______________________compartment.

36. To test the elevation-depression functions of the rectus muscles, the eye should first be placed in the ____________position. 
37. In order for the sphenoid sinus to drain well, one should like in the prone position with the _________________positioned lower than the chin.

38. Pain caused by a middle ear infection is the result of an irritative lesion of the ____________________membrane.

39. A lesion of the left vagus nerve produced paralysis in the _________________________muscle and caused the uvula to deviate to the __________________side when the patient said ahhhh.

40. In the mouth, the opening for the parotid duct is located adjacent to the__________________________tooth.

41. Motor secretory control of the parotid gland is provided by the __________________________branch of cranial nerve IX going to the _______________________ganglion.

42. Most of the lymphatic drainage of the body is returned back into the venous system by the _________________________ located on the __________________side of the neck.
